
 
 
 
 

y = 3x - 2 
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Contains point (-1, -5) 
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     y-intercept :  -2 
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Positive 
Slope 
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y = 6 

 
 
 
 
 
Card 2 
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y – 6 = 0(x – 6) 
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Parallel to 
x-axis 
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No Slope 
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x = -3 
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Does not represent a 
function  
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Parallel to 
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Undefined 

Slope 
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Card 4 

 
 

 
 
 

 
Card F 

 
 
 
 
 

Contains point(2,3) 
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x-intercept: 8  
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Negative 
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y = 5x 
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5
𝑦 = 𝑥 
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y-intercept: 0 
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Direct 
Variation 
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2y = -8x + 2 
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y + 7 = -4(x – 2) 
 
 
 
 
 
 
Card Q 

 
 
 
 

y + 11 = -4(x-3) 
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Negative 

Slope 
 
 
 
Card G 



 
 
 
 
 

x = 2y + 4 
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y - 1 = 2(x – 6) 
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y-intercept: -2 
x-intercept: 4 
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Positive 
Slope 
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-2x = 6 - 3y  
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y – 2 = 2/3(x + 6) 
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x-intercept: -3 
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Positive 
Slope 
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